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Consider the function flx) = , where a is a positive constant and x > 0. The diagram shows a
sketch of the graph of £ The graph intersects the y-axis at point A and line L is its horizontal asymptote.
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(a) Find the y-coordinate of A. \\I) = LS a - _ Q'ZS
()
The point (2, 1) lies on the graph of y = fx)
(b) Calculate the value of a. G o Z
@)

()  Write down the equation of L.
@)
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@ Consider the function flx) = , where a is a positive constant and x > 0. The diagram shows a
sketch of the graph of /. The graph intersects the y-axis at point A and line L is its horizontal asymptote.
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Find the coordinates of B,

Another point, C, which lies on the graph of y = f{x) has the same y-coordinate as A.

(b) (i) Plotand label C on the graph above.

(i)

Find the x-coordinate of C.

The graph of the quadratic function flx) = 3 +4x - ¥ intersects the y-axis at point A and has its
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Another point, C, which lies on the graph of y = f{x) has the same y-coordinate as A.
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ii)  Find the x-coordinate of C.
(ii)  Find the x. ( ‘4.77> o

Topic 6—Mathematical models

6.3 | Equation of the axis of b
symmetry for the graph of |+~ 75
the quadratic function
y=ax’+bx+c
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Factorise the following Quadratic, f(x) = x*-6x + 8

the M‘D‘mo <x<6 label with the coordinates, the
he vertex. Mark on the axis of symmetry and label it
State the corresponding range of the function.

Plot it on the axes below for
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Where is the vertex of the function f(x) = (x—5)* + 6?
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b) The number of years it takes for the diameter to trip
SIS

0.5 Solve @‘Pof‘@k\'ha/ e}

f(x) is a linear funcuon witn gradient 3 and y —intercept 2, g(x) = -0.5x -1.5
Plot these two lines on the grid below for the domain(=4 = x < ’and state the
coordinates of the inters'ecﬁon of the two lines and the range of the functions.
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Reminders

e Be sure you have read about Data
Collection (Packet P2)

&

- See your test on Unit 2

From last class:
Be able to construct diagrams

of Normal Distributions

K"Bc[ [ Curve"
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It is possible to utilize Normal Distribution in your IB Math
Studies project if you like, BUT you would have to have data
that is at least somewhat likely to be accepted as normally

distributed.
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as in this

There are many small isolated
topics that are in the IB Math
Curriculum. Those will be handled
during warm ups or,
case, a Warm Down.
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Put the appropriate symbol next to the column headings and then put a tick or
— - cross in each box of the table
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ﬁ Real Rational Natural Integers
4.6 v L=
3 ) —
T 6 L r “
‘ 7 L — —
N 2 v -
Ol
ax Sl - UNATS -\ -
m S - - =
Which of the following units could be used to measure speed? Cifcle your
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P
Ifa=3.2x 10% and b = 4.7 x 10*then please calculate, giving your answers in
standard form _
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Warm Down
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HH - Ch. 10 Packet..... f 5 in ok
notes .

a) Study pp.300-301

b) do problems on p.303.... 5, 6, 9
and p. 307.... 1, 4, 7




